

Small Business Price List 2022-2023

Sage South Africa



Products

Sage Cloud Accounting

Take Control Of Your Invoicing, Cashflow, Payments, Tax, And More.

Sage Business Cloud Accounting – End User Pricing			
Sage Accounting	Monthly Subscription	Annual Subscription	
Sage Business Cloud Accounting (2 User, 1 Company)	R 340	R 3876	
Sage Business Cloud Invoicing (1 User, 1 Company)	R 185	R 2109	
Modules			
Additional companies	R 320	R 3648	
Additional users	R 60	R 684	
Multi-currency (Per Company)	R 130	R 1482	
Time Tracking (Per Company)	R 130	R 1482	
Advanced Inventory (Per Company)	R 325	R 3705	
Debtors Manager (per Company)	R 230	R 2622	
Storage (1GB)	R 15	R 171	





Sage Cloud Payroll

Stay On Top Of Your Legislative And Employee Changes With A Brilliantly Simple Payroll Solution.

Sage Business Cloud Payroll – End User Pricing				
Employee Bracket	Cost per employee per month	Subscription Cost - Monthly	Annual subscription Cost (APPROX 7.5% discount)	
2	R 71	R 142	R 808	
5	R 164	R 820	R 1,864	
10	R 314	R 3,140	R 3,579	
15	R 462	R 6,930	R 5,343	
20	R 596	R 11,920	R 6,796	
25	R 744	R 18,600	R 8,487	
30	R 849	R 25,470	R 9,680	
40	R 1,333	R 53,320	R 12,911	
50	R 1,341	R 67,050	R 15,284	
60	R 1,609	R 96,540	R 18,341	
70	R 1,771	R 123,970	R 20,192	
80	R 2,025	R 162,000	R 23,088	
90	R 2,144	R 192,960	R 24,442	
100	R 2,360	R 236,000	R 26,906	
110	R 2,455	R 270,050	R 27,983	
120	R 2,503	R 300,360	R 28,530	
130	R 2,711	R 352,430	R 30,903	
140	R 2,808	R 393,120	R 32,009	
150	R 2,905	R 435,750	R 33,115	
175	R 3,126	R 547,050	R 35,638	
200	R 3,274	R 654,800	R 37,328	
201+	R 16.37	No of Employees x R16.37		







© Easy **©** Quick **©** Precise

Take your business to new heights with Cloud Solutions.

Visit www.thefunaccountant.com to Sign Up and receive a 30 Day Free Trial





EASY, QUICK, PRECISE CLOUD ACCOUNTING

https://www.youtube.com/c/TheFunAccountant





